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Note: Answer any 2 full questions, choosing one full question from each part.
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PART A

| DC motor.

Define Back e.m.f and drive the Torque equation for a
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| | starter

Explain the necessity of starter and explain star delta
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| | larmature with 90 slots and 12 conductors per slots. If it
| revolves at 1000 rpm, the flux per pole being 0.5Wb.

' 10.97 and all the conductors in phase are in series. The
| coil is full pitched..

A 6 pole 3 phase star connected alternator has an

Calculate the emf generated, if the winding factor is
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OR

Explain the characteristics of a DC shunt motor with
figure
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Discuss the different type of rotor used in alternator
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Define slip speed and slip.
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A 3 phase 6 pole S0Hz Induction motor has a slip of 1%
on no load and 3% at full load. Determine L)
synchronous speed ii) No load speed iii) full load speed
iv frequency of rotor current at stand still v) frequency

of rotor current an full load.
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PART B

Find the useful flux per pole of a 250V, 6 pole DC shunt
motor having a two circuit armature winding with 220
conductors. At normal working temperature, the overall
armature resistance including brushes is 0.2Q . he
armature current is 13.3Aat the no load speed of 908

rpm

CO5

Explain with neat diagram the concept of rotating
magnetic field.

CO2&,

3 phase star connected synchronous generator driven at
900 rpm is required to generate a line voltage of 460V at
60Hz on open circuit. The stator has 2 slots per pole per
phase and 4 conductors per slot. Calculate I) the number
of poles, ii) the useful flux per pole
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OR

a|Why series motor is never started on no load?
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Derive the emf equation in an alternator. What is the
necessity of considering pitch and distribution factor
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A 240V 4 pole shunt motor running at 1000 rpm gives
ISHP with an armature current of 50A and a field
current of 1A. The armature winding is wave connected
and has 540 conductors. Its resistance is 0.1Q and drop
at each brush is 1V i)find useful torque ii)total torque,
iii)useful Torque, iv)Useful flux per pole v)Rotational

losses
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